HONORS CRITICAL THINKING

HOMEWORK #5  Types of Arguments: All Things Considered and by Analogy
Part I  Identify the conclusion (maybe qualified) and counter-considerations in the following two passages.
[2]
1.
Context: In response to Spring Break policies

(1) The University should move Spring Break so that it occurs during Easter Week.  (2) It is true that many people prefer Spring Break to fall in the middle of the semester and Easter is often later than that.  (3) But many students and faculty would prefer to have Spring Break coincide with Easter for travel purposes and for religious reasons.  (4) And many faculty members would prefer to have Spring Break during Easter Week so that they can be with family.
Conclusion:  
Counter-consideration:

[2]
2.
WITA Exercise Set 11.1, p. 517, #14

Context: In response to a letter on gun control

(1) The latest gun violence has once again brought out the apologists who assure us that gun control is not the answer.  (2) How would they know?  (3) It’s not as if the idea has been tried and found wanting.  One writer says (4) he grew up with guns and such violence was unthinkable. (5) Yet, society has changed since then – (6) so aren’t new restrictions a logical response?  (7) Another writer invokes “constitutional” gun rights.  (8) The licensing and registration of automobiles hasn’t led us down any “slippery slope” of tyranny.  A third writer says (9) gun control absolves us of responsibility, suggesting instead that (10) we reach out “to our neighbors with acceptance and support.”  (11) This isn’t likely to be achieved any time soon.  While we wait, (12) I’ll settle for licensing and registration of every handgun. – 
Conclusion:  

Counter-consideration:

Part II  Identify (or construct) the counter-premise(s) in the two passages above.  (There may be more than one in a certain passage.

[2]
3.
Context: In response to Spring Break policies

Counterpremise:
[2]
4.
Context: In response to a letter on gun control
Counterpremise:
Part III  Draw tree diagrams of the arguments in each of the passages above, showing conclusions (maybe qualified) and counter-premises.  Don’t evaluate for Hasty Conclusion.
[2]
5.
Context: In response to Spring Break policies
[2]
6.
Context: In response to a letter on gun control
Part IV  Arguments From Analogy
WITA: Exercise Set 11.2: Section B, p. 538- 544
[4]
7.
WITA: Exercise Set 11.2: Section B, p. 538- 544, #5
Primary Subject:

Analogue:

Selected Characteristic:

Conclusion:

P1:  

IP2:

[4]
WITA: Exercise Set 11.2: Section B, p. 538- 544, #14
Primary Subject:

Analogue:

Selected Characteristic:

Conclusion:

P1:  

IP2:

